M2 M1 Odds Ratio Odds Ratio

Study or Subgroup  Bvents  Total Events Total Weight M-H, Random, 95% CI M-H., Random, 95% CI
1.5.1 hypertension =70%

Bhogal2017 a8 106 178 470 35.7% 1.98[1.30, 3.03] —i—
Salahuddin2017 a3 A4 4 153 261% 1.36[0.74, 2.48] T
Subtotal (95% CI) 165 623 61.7% 1.75[1.23, 2.48] .
Total events 41 252

Heterogeneity: Tauf=0.00 Chif=1.02, df=1(F=031); F= 2%
Test for overall effect: £= 310 (P =0.002)

1.5.2 hypertension = 70%

Coutinho20145 an alll 136 243 253% 1.18[0.63, 2.14] —
Frofto2016 11 22 24 46 12.49% 0.69[0.21, 1.64] - v |
Subtotal (95% CI) 72 289 38.3% 0.94 [0.50, 1.79] -
Total ewvents 41 165

Heterogeneity: Tau®=0.06; Chi*=1.31, df=1 (P =0.2%9); F=23%
Testfor overall effect: £=0.18 (F = 0.86)

Total (95% CI) 237 912 100.0% 1.34 [0.88, 2.05] *
Total events 132 417

Heterogeneity: Tau®=0.08; Chi*=5.452 df=3 (P =014} = 46% '
Testfor overall effect: £=1.38(F=0.17)

Te=tfor cubdroun differences: CRHiFE= 272 df=1 P=010%" F=E2 4%
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